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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Trend plot forP3-4 0
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P3-4

BrE) | GEBATK (F)) | ERE (BEH/K) = R

02:55 125 80.0 1] FiHA@02:55 (RE{ERESE)
06:35 125 80.0 53] FH#Ae06:35 (KRF{ERLEE)
07:30 125 80.0 E5 FiHA@07:30 (FKRAERE)
08:25 125 80.0 53] FiHA@08:25 (KRHE{EREE)
09:55 125 80.0 53] FiHAe09:55 (KRF{ERLEE)
11:00 125 80.0 1] FHfe11:00 (REHERSS)
11:55 125 80.0 e FnfAe11:55 (KRPBHERSE)
12:50 125 80.0 1] FilR@12:50 (FRAAERHE)
13:50 125 80.0 ] FnHAe13:50 (RFERES)
15:00 125 80.0 & FnHAe15:00 (KREAERHZE)
16:35 125 80.0 & FnHRe16:35 (RFERLEE)
23+ 1375.0 (110%) 880.0 3 3FKEC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR
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P3-4

BYE) | GEBERTIC (B)) | EBE (EAH/#) | XS R

08:15 90 80.0 ] Bi%@08: 15 (FKFERE)
09:15 90 80.0 ] 1%@09: 15 (KREERE)
11:30 90 80.0 FA BRi%e11:30 (RAEFERER)
12:50 90 80.0 A BR1&@12:50 (RFEREE)
2it| 360.0 (4%) 320.0 32053KEC: 2000.0, PH: 6.5

EOREBRTK (90. 0) 5FHA (125. 0) N FF, FIRERR T % MEIEZ S E XER

ZRIAKPRIEBLS8. 0 ml.
BE X HE [E] IRECETHE SR 2K
RE R L3 HEREC/PHIE SREE, TTRER,

MR ELR R




P3-4_0, Day=15 (2025-04-13)
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P3-4

BfiE) | EBETK (D) | EE (EH/AR) | XK R

05:00 120 80.0 |Z =& {B31%@05:00 (K FH{EREE)
06:00 120 80.0 |Z =& 131%@06:00 (K LS
09:00 120 80.0 1] 1R1%@09:00 (K FHfERLES)
10:00 120 80.0 1] B318@10:00 (FKFEREE)
11:00 120 80.0 A BRi1&@11:00 (RFEREE)
13:30 120 80.0 A Bi%@13:30 (RFEREES)
Bit| 720.0 (6%) 480.0 3ZHKEC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR




FRV (ml plant-1)
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P3-4_0, Day=14 (2025-04-12)
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P3-4

BfiE) | GEBIETK (D) | EE (EH/R) | XK R

01:50 120 80.0 |Z = B1%@01:50 (RFERSE)
02:50 120 80.0 |Z =& B1%@02:50 (KRFERSE)
03:50 120 80.0 |Z =& {B31£@03:50 (K LS
06:45 120 80.0 1] 1R1%@06:45 (K FHfERLES)
09:05 120 80.0 (&= BR1%@09:05 (RFIFERER)
10:15 120 80.0 |Z =& B31&@10:15 (KRBEREE)
11:20 120 80.0 5 Ri%e11:20 (KRAERKES)
12:50 120 80.0 5 BRi%@12:50 (RFERSE)
=it| 960.0 (8%) 640. 0 3203 KEC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
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ET (ml/hr/plant)

P3-4_0, Day=13 (2025-04-11)

80— — ]
VI,V0, ¥RV, ET - VI, V0, FVI, EVO, FRV, adjFRV, ET

60 - 600 ~

422

38
40 A 3080 400
20 A - 200
00 Warning: lcol [FVI',| "FVO’'] missing b0

100 -0
4 30.0

FRV (ml d-1

75 maxM L 57 5

50 - - 25.0

95 L 22.5

e i L 20.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0, | TargetSetEC=2000. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

0.2~

908

300

Warning: lcol ['PHB’,| 'PHC’'] missing

1 1500

- 1000

200 -
- 500

GRS 5 aan i cne S 100 I I N N 0

408— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 1500

]
Bylnit @D1p 02:41: ET=703 |[Fg=880.0 Ro=77.0

1

1

1

1

I

1

1

i

cumET (ml/plant)

100 -

2 0 - I T O O I I I O e e e 5
. 1 c
%007 "ByEt @D13 18:13: ET=806 Fg=708.0 Ro=nan ! 1000 =
200 : z
o—0—0—0—0—o =
I - 500 g
100 1 E
p———&——© *—o I 3

|

1

408— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 _?500
2212212222122 B | B 222212222 % | & | % | & | 8 | B | % [Am|w| B | B | B | B -
1 c
3001 ByWoFv @D16 02:41: ET=422 Fg=640.0 Ro=48.0 I S
i 1000 =
I —
£
| S e == == == =
1 - 500 w
' :
(6]

0

17 18] 192 [21]27]23
P || /v BH [ BH [ BH | PA

0.6

0.4+

0.2~

|
| _obs
PPFD_obs

e vpD P




20. 8

20. 6

20. 4 -

20. 2 -

20. 0 -

19. 8 ~

M_E

T
550

T
600

T
650

T
700

T
750

m=780,m FV0=0

T
800

20. 80 A

——

20.75

20. 70 A

20. 65

20. 60 ~

M_E

780

T
785

T
790

m=720,m FV0=0

20.

20.

20.

19.

19.

19.

19.

m=570, FV0=0

05 -

00 -

95 A

90 -

85

80

——

M_E

T
575

580

46 -

45 -

44

43 4

42 -

20.

20.

20.

20.

20.

20.

20.

m=660, FVO0=0

30 A

25 A

20 -

15

10 ~

05 A

00 ~

——

M_E

T
660

T
665

T
670

m=570,m FV0=0

20.

20.

20.

20.

20.

20.

20.

m=720, FV0=0

70

65

60 -

95 A

50 -

45 A

40 -

——

M_E

T
550

46. 0

45.5

45.0

44.5

44.0 -

M_W

720

725

730

T
600

T
650

T
750

m=780,m FV0=0

T
800

44.0

43.5 -

43.0

42.5 -

42.0

M_W

46.5

46.0

45.5 A

45.0 A

——

M_W

780

785

790

T
570

T
575

580

T
720

T
725

T
730

m=660,m FV0=0

44.5

44.0 A

43.5 A

43.0 A

42.5 A

——

M_W

T
660

T
665

670




hour

100

00
50
80
40
30
- 60
:35
140
- 40
140
:50
20
:55
:10
-0

&% "/é y S




P3-4

BfE) | GEBAK(F) | ERE(EAH/K) (XS R

07:00 120 80.0 = B218@07:00 (FKFHERR)
07:50 120 80.0 = B1%@07:50 (KRFERSE)
08:40 120 80.0 |Z =& B1%008:40 (KRFERSE)
09:30 120 80.0 |Z =& 1B31%@09:30 (KF{EREE)
10:35 120 80.0 (&= i318@10:35 (KRFEREE)
11:40 120 80.0 (&= BRi%e11:40 (RAEMERER)
12:40 120 80.0 |Z =& Bi&@12:40 (KBEREE)
13:50 120 80.0 | =& BRi%@13:50 (RFEREES)
14:55 120 80.0 (&= BRi%e14:55 (REMERER)
16:10 120 80.0 |Z =& Bi%016:10 (REERSE)
23t 1200.0 (100%) 800. 0 3Z3KEC: 1900.0, PH: 6.5

large discrepency for begining water status (161:297.0), set to 188.0 ml.
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FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=12 (2025-04-10)
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